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L.’r mwn: basic parameters of allowance for 2w noa
a. Fully excused: xno and npn 777
b. Limited excuse: ;W or v1IR
i. Difference: no n13 for RN or NPINT T17; N1 for LIR/AMWY
1.Dispute: nww "1/19m 1 re allowance to perform PwWrY noa
a) 277 someone who was npIni 7172 can be included in 7”0
i. 2w noo. nmn gave him an extra chance in case he couldn’t be included
b) w7 someone who was npna 7971 cannot be included
i. 2w noo he was “pushed away” from 172 to v”a
c)Argument (377): from nywn which allows that “if he didn’t do 7”8” he may have
i. "7 just as X0 must include T, so W includes MR (who certainly may be included)
1.owx 77 (support for w”): 1 must be included b/c of N1
d) Argument (177): no 1R in ®w (should have said “2n” but said pa»n due to parallel construction)
e) Argqument (v”): proof from ™ who compares npna 717::800
Just as: ®nv is simply forbidden, similarly, npmna 717
ii. Rejection: R2py "1 holds that we don’t do njp»ar for a y7w ®nY — we disagree
f) 8r17212 (supporting 377): mar are included (*ov "13); PN 717 is listed in N to exempt him from n1>
i. Ap7»7xr1e NI aYN
1.227: 27n for intentionally missing the 1st and 2nd (27 is independent 537)
a.Nw xvm: from 91N (v2) >na3; 11yna =2nd
2.m2 /7. only 27n for missing the 1t (274 is “makeup” for 1)
a. N zvn: teaches that 9Tan=n13; ¥ na refers back to 1st
3.y7an7. only 2n for missing the 1st if missed the 2nd (274 is a nipn for the 1st)
a.17vpx means 2" — allows to fix 15t
ii. Note: im "1/721 follow their dispute re 73 who converted after 1”2
1.227. 270 in v”"9; 1" — exempt
iii. Conclusions: agreement and dispute
1. o in both: all agree that he is n73 27n
2.amwin both: all agree that there is no n13
3. vtoin the 1st and anwin the 2": 093 (except according to y”an3)
4.anwin the 15t and 7rpin the 2": no n3 (except for »a7)
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